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18 .
K % i=E:] 2o 8 INET 3[m] &L &5t |IEAL (R
KE il 23.1 32.6 55.7 A239 318 1 | O
Kix = (1) A85 13.5 5.0 6.0 110 2 | O
H EF 7.8 A123 A45 A47 A92| 3 | x
RIBOEH (1) A224 A338 A56.2 22.6 A336| 4 | x
HEtE 0.0 0.0 0.0 0.0 0.0
2 8 .
K % i=E:] 2o 8 INET 3[m &L &t [ JEAL [
Mg i (GE) 7.6 23.9 315 A25 200 1 [ O
HIE FEJH A47 3.3 Al4 23.0 216 2 | O
It &% (&) 19.2 AG.7 12.5 7.6 201 | 3 | x
P REE A (GF) A22 1 A205 A426 A28 1 A707| 4 | x
HEtE 0.0 0.0 0.0 0.0 0.0
38
K 4 i=E:] 2 [o] 8 INET 3[mEf &5t |IEAL (R
FH E= (& 13.2 A258 A126 27.2 146 1 | O
b BT (u) 23.5 A95 14.0 A87 53] 2 | O
)l F04% (101) A338 23.1 14.3 A1838 A45| 3 | x
BE H—(GF) A279 12.2 A157 0.3 A154| 4 | x
HEtE 0.0 0.0 0.0 0.0 0.0
4 & ] ] B
K £ 1 [B] & 2[o] Bf INE 3[E[E B B4 |5
A% BAX 24.8 A50 19.8 36.6 564 1 | O
A¥ F==(u) 9.1 11.8 20.9 10.2 311 2 | O
BALL FEEE A100 35.6 25.6 A186 70| 3 | x
BA  EE(u) A239 A424 A66.3 A282 A%5| 4 | x
HEtE 0.0 0.0 0.0 0.0 0.0
58 ] ] _
K £ 1 [A] & 2[o] Bf INET 3[E[E B B4 |5
22 HE &) 17.9 19.9 37.8 A66 31.2] 1 | O
KiZz BT 9.5 A206 A11.1 22.0 109 2 | O
TR Bk (u) A73 8.2 0.9 6.9 78| 3 | x
EpE—A(R) A20.1 A75 A276 A223 A499| 4 | x
HEESE 0.0 0.0 0.0 0.0 0.0
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6 &= _

K £ i=E:] 2o 8 INET 3[alE; &5t |IEAL (R
T+ Fth 4.3 20.9 25.2 24.0 4921 1 | O
i 1 (15%) 43.6 A382 35.4 A7 283 2 | O
¥/ FEM A119 7.0 A49 A305 A354| 3 | x
REX &— A36.0 A197 A557 13.6 A421] 4 | x

HEtE 0.0 0.0 0.0 0.0 0.0

75 _

K £ i=E:] 2o 8 INET 3[aE; B e EEES
wwe = (13) 48.4 A376 10.8 12.5 233 1 | O
¥ 248 (u) 2.5 A10.7 AS2 24.2 160 2 | O
RHF  FE (&) A6.1 19.3 13.2 A286 A154| 3 | x
TR T (15) A4538 29.0 A1638 A3 1 A249] 4 | x

HEtE 1.0 0.0 1.0 0.0 1.0
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K £ i=E:] 2 [o] 5 INET 3[aE; =1 B |55
HIE il () A93 9.7 0.4 25.2 256 1 | O
B F 21.1 A2 12.9 11.0 239 2 | O
akii] g (R) A183 25.7 7.4 Al14 A40]| 3 X
ZH EHE (&) 6.5 A272 A20.7 A2438 A455| 4 | x

HEtE 0.0 0.0 0.0 0.0 0.0

o= _ _ _

K £ i=E:] 2o 5 INET 3[alE; & B4 | &
e FE W) 9.4 5.0 14.4 25.0 3941 1 | O
XK#E B ) 18.5 23.1 41.6 A120 296| 2 | O
S ERAE=E(u) AG2 A69 A13.1 12.8 A03| 3 | x
wBAEEF (1) A217 A212 A429 A258 A6s87| 4 | x

HEtE 0.0 0.0 0.0 0.0 0.0




